=0 o
2023 T 20| LBHS|H EAA
SA 2AA
M PAARY SHSHEAH/EAHOR)
chel: 22 (CHl: X 21)
N - B3 - SRI(3H) - MIRAR - BES o vy ] bl D2
SHA 14,610,066 16,149,271 A 1,539,205
= 891,851
z 376,861
p) 2,974,773
[ 1,651,139
Al 8,689,948
= 25,494
A SASHEA/EAHOIR) 7,386,723 8,052,510 NBB5,787
= 532,000
= 283,999
p) 95, 112
[ 836,001
Al 4,748,077
= 21,534
ERIEESEE] 1,179,089 1,155,842 23,247
z 33,999
[ 10,000
Al 1,135,090
S 22 o N 70,697 69,239 1,458
101 QI24H] 30,477 29,019 1,458
M IIIR22IEES 30,477 29,019 1,458
OSH HoIEX2 218y 28,014
—Q12Y 76,9602 x2H* 150 23,088
—F5+g 76,9602 x2Hx252 3,848
—ARRSEISY
76,9602+ x 7 1,078
OFAL S PHH| Q2A(MEH L AL 22| S)
2,463
—oley 76,9602 x2 &2 2Ux8IH 2 2,463
201 L2 S 33,220 33,220
01 AF22t2IHI 32,220 32,220 0
02202 ZETAHOAL TR HIZ
100,00024% 102 1,000
OBAHMFANHIA B2 212
400,0002 %23 800
OXIAEAHARHE ABHBA K0!
10,0002%505 500
OXNSHBHO B A0 25| &HAG
70,0002 * 12 %23 1,680
OzlH2E Mal g0l
10,0002*3Z+30 900
OBA(X)A - BAX2A 2UE MA! K0
10,0002 10H A6 600
OURIRH Mtz 42
20,0002%524 100




SPA BAL
HE: HAAY SHFH(EH/2HAR)
ohelr BAsE e (crel: M)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
O2=BHOA =4 Axf=
350,000 x6 % * 122 25,200
ORIZA JIEHHYAIAL 202
20,00024% 122 240
OzHlIg M2 7Y
10,00024* 1074122 1,200
03 B AL 1,000 1,000 0
OB & A 222 2 a0 H=
1,000,0002 %14l 1,000
203 YR 7,000 7,000 0
03 AIFAARETIH] 7.000 7,000
OSAMF 2 AR
5,000,000 % 14! 5,000
OAULETAIG 2R P2 FX
2,000,000 % 14! 2,000
EEPIEISIT=ES 94,188 81,554 12,634
201 B2 67,505 64,871 2,634
01 AlR2r2IH] 972 972 0
OFA Z2lgE 7Y 972
—JHoreE e 5,0002* 12 60
—SIEA DRIRE
7,0002 %8I Ax 122 672
—HL83 10,0002 x2E5+ 12 240
02 2229 66,533 63,899 2,634
OFAt ®IIAIE Xz
500,000 %23 1,000
OZFA CCTV &H| Xzl
300,0002 %23 600
OBAHA HE A H2U(E=HE ZF)
3,362242,845m 30/ 100 2,870
OFAL ASAIA SXZE| W3 (SE HUFY Tt
280,00081% 122 3,360
OBA(X)A L SAXZA A} 92 A= 4,134
—22HA AL QR AS
413,3002%53] 2,067
—BAXA OF AS 670,6002x23] 1,342
—BAHTBA RAS
362, 2002%23 725
OS24 D2LHY Hgt AS
413,300+ 13| x52F 21,492
OFAF HIEE HIE(2A) =Y
4,00024%1,494m 5,976
OMNAEHISXHI(AAMSEIRR 22) 1,651
—stests)| ADASE DHOIAARIH 2)
200,000&*5Z+13] 1,000
—&tests )| Sz
8,452,8802%7/100%1. 1 651




FA AL
HE: 2AHAIY BASHEA/EH2R)
Cre: S
(Crol: X2l
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
OREHMAZII(WPS) 2K
125,0002* 122 1,500
OFAL Y - LAl SXIE4 7,500
—W - L] RXIES
250,0002%23] 500
—HEE W LA U YR BA
100,00024%70CH 7,000
OXr&=Xd| 10,500
—20M9701(S8, AN, 0|0, 3|2LR)
1,000,000+ 1CH 1,000
—16H5113(58, BHLE, 32R)
1,000,000+ 1CH 1,000
—71015068( 58, YEA A, HR)
1,000,00024%1CH 1,000
—156963( S, XIHOHAMIE], /2 R)
1,000,00024%1CH 1,000
—32Li4840( S8, U2 EN, FLR)
1,000,00024%1CH 1,000
—08L16573( 58, HLSX, 52R)
1,000,000+ 1CH 1,000
—9BRABA( A B2, YAR B R)
1,500,00024%1CH 1,500
—252i3317(S8, LU2EAH, 3LR)
1,000,00024%1CH 1,000
—T71357336(58t, UEHA, TR)
1,000,00024%1CH 1,000
—T157357 (58, HAEA, HR)
1,000,00024%1CH 1,000
OFXE 0l2AIEE |22l
100,000&4 %42 400
Ozl B8 NS BA 242
250,00081CH« 12 3,000
OEA 283 B 242
200,00021%27H A %23 800
ORI A7) H= x|
25,00024% 1074 250
OZFoje!l BOAL HXI(HAE 2)
20,0002 #55+15JH A 1,500
206 M=l 283 283 0
01 M=t 283 283 0
OBA(X)A & BAN2A ®Y THpe
ME 7 283
—S% 12,00084%25+74 168
-2 5,00020%23 %+ 13] 115
201 AEHL 20 26,400 16,400 10,000
01 Al&l 26,400 16,400 10,000
OEA S2NE L AILE S
5,000,00024%43] 20,000




A 2AHA
I BAAY SHSH2H/2H2R)
ohelr BAsE e (crel: M)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
OEAL W3S AlE2 FIIHNEY 89
3,200,000 %23 6,400
SAXL L 24 2 948,204 902,005 46,199
101 QI2AHI 140,068 128,240 11,828
04 222 XS24 140,068 128,240 11,828
OBAXA ABEEX 012 140,068
—=E 76,9602 % 102150 115,440
—F5+E 76,9602+ 10Z #2521 19,240
—oXRIEIEY
76,9602 %105 *7L 5,388
201 LB 267,696 246,925 20,771
01 AF22t2IH] 33,800 33,650 150
ORIAEOIZ H4)| ZH WA 5,000
—2da 100,0002 %23 <204 A 400
—E2 X4 100,0002%23]*10JH A 2,000
—2AM=SA 100,00024%23]* 1304 A 2,600
O2II1H=)| ZH WA
110,000&=32CH 3,520
OXBIIER S BNXZE AL R0
300,00024#3% 900
OFAIZ2IZE 2 2,760
—2AX 10,0002+ 100H 2% 122 1,200
—2HiEs 10,0002 %1304 A% 12 1,560
Oglg 282 P(BA(X)A, BAXEA) 2,950
—3s2d2A 100,000 102+ 1 & 1,000
—2tSA Ot2 65,0002 %302 » 1 1,950
O2I2HII2 A 2
5,0002%23 Ax 128 1,380
OEATRA 2HH2l3| FHasry
70,00024%15% 13| %1374 A 13,650
OBAZZA SHEHOSEY 285 49
70,0002 %13 %43 3,640
02 S224H| 233,89% 213,275 20,621
OZESHDIZ YER] 242 (ST R L S2HH2I)
20,940
—2AL 250,000 % 1) 2%128) 3,000
—22X 4 65,0002 1004 A% 122 7,800
—Ediss 65,0002 % 1374 A% 122 10,140
OMIQB(EAHXIA)
550,00024% 1074 2% 122 66,000
OFIIQB(EAHER L)
350,00024% 1304 %122 54,600
@rsERe= 11,040
— 2K 40,0002+ 100 Ax 122 4,800
—2HlEs 40,0009+ 1304 A% 12 6,240




2A: BAA
M PAARY SHSHEAH/EAHOR)
cHels EAgE A (EERSED)
S - B - ORI(3]H) - HISAR - BaS Ol kot ] HIDE2
OMBI=ERa 4,584
—BAXA 20,0002 * 1004 A* 122 2,400
—2Alsa 14,0002 * 1374 A 12 2,184
OFSIE HA 228 510
—E2Alss 85,0002 *6IH Ax13] 510
OZH| SA24HI(BAXA) 2,120
—XU2 HH|(XIARUE 2 78)
100,000 *8Z 21 A%20/ 100 320
—HASTA 2= HH|(QHOIQIXt @I 55)
100, 0002465+ 1074 A*20/100 1,200
—UBIRIA(MAFE AN 2 2F)
100,000 %3Z*10JH A%20/ 100 600
OZHl SXNELH(BATZ2A) 2,340
—AASTA 2SHH|(QHOIQXt @ 55)
100, 0002 *6Z5* 1374 A+20/ 100 1,560
—UBIRISA(MAFEAH 2 2F)
100, 00024351374 A*20/100 780
OFIIAAE MRS 42 20,340
—22A (4,22
125,0002 %204 A 122 3,000
—2AX = 85,0002 +9J A+ 122 9,180
—2ASA 85,0002 +8I A 122 8,160
O[ugs A2 0.484
—2AX 2 9,000 10 A 122 1,080
—BAXSA 9,000 * 13T A* 122 1,404
Ol HEOAAE 29 X2 22,920
—2AA (A, P2
100,000 *2JH A 122 2,400
— 22 80,0002 * 107 A 122 9,600
—2Als s 70,0002+ 1300 Ax 122 10,920
OFAI LR o2y 5,088
—2AA QIA(LHR 2ZY|)
23,5002 % 12021 JH A 2,820
—ABBHTSA(LPGIIA HZHI)
4,2002%90m 6214 A 2,268
OHAILRIE WA HNEY 242 4,830
—E2ATA 210,000 % 13|+ 10T A 2,100
—2Als L 210,00024 % 13| * 1374 A 2,730
OAe K22/ 11,500
—22AXL 500, 0002 * 107H A 5,000
—2A%s L 500, 00024 1374 A 6,500
Ol SXIEs 4,600
— 24X 200,000 %1074 A+13] 2,000
—BANEA 200,0002* 1304 A 13 2,600
307 2I2t0| & 485,340 484,440 900




M BaAL
Hu: A BHSHBA/2A02)
(e = b= P (crel: M)
SA - FH . SRI(B) - HIRAY - BAS il b ] Hl D=2
EEEEED 485,340 484, 440 900
OXSAFEAI|(AD) 222 ¢
500,000+ 174 500
ORSx LS =Yl L o= FH|
200,000 <2CH 400
ORZYAZE 1QY(H2KIL) 375,240
-2 279,600
- ASDIHI(HIML 2 3535)
500,0002+ 10 A 122 60,000
S E=EDH(2A31 2 195)
550,0002+ 1071 A+ 122 66,000
ZS2AA(NHZY 2 21F)
500,0002* 107 A 122 60,000
- SEIJIH(HEEIH 2 25F)
500,0002* 107 A+ 122 60,000
- DS EEH(HLI2IR! 65)
280,0002+ 10 A 122 33,600
—&e 79,800
ABDIH(BRIA 2| 85)
200,000 7 Ax 122 16,800
CEED(QIMTHS A 9 7E)
200,000 7 Ax 122 16,800
2BAN(LEA 2 55)
200,000 7 Ax 122 16,800
SEIN(AHEY 2 85)
150, 00021 %74 Ax 128 12,600
JIEtRE(ZEY 2 55)
200,000 7 Ax 122 16,800
—UEE 423 15,840
BN ADE(STHI 9 203)
60,00021% 10J4 Ax 122 7,200
CEHNE ADE(UIBE 9 155)
60,00021+7 1 A2 5,040
AWHE ADS(SAH 2| 15F)
150, 0002 %27 A x 128 3,600
OmZolAZ R(FANBA) 109,200
—JZo|tF () 93,600
A3 (HLIEIE 2 83)
100,0002* 137 A 122 15,600
- E=BD|H(H AR 2 205)
200,0002+ 1301 A 12 31,200
- DBAA IR Q| 215)
100,0002* 130 A 122 15,600
S SEIAU(RYA 9 155)
130,0002+ 1301 A 122 20,280
IS EEHHLZIL 9 6F)
70,00024% 1304 A x 1284 10,920
=g 425 15,600




SPA BAL
R BAHAY SASHEH/BHOZ)
el BAF 2L (crel: M)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
S UBNE AQE(ARHX| 2| 30F)
100, 0002 * 130 A 122 15,600
401 AIZHI L2 0] 46,000 34,500 11,500
01 Al&H 46,000 34,500 11,500
OBHR(RZ)A BAME L AILS HES 46,000
— 22X 2,000,00024* 1074 A 20,000
—E2AHAS A 2,000,000 134 A 26,000
405 KHAHEEH| 9,100 7,900 1,200
01 L SEF =H| 9,100 7,900 1,200
OHALI(=EBAUXL) 300, 000! *1CH 300
OLHOIIHEHEHE 2 A)
3,500,00024*1CH 3,500
O2MMED(FEBATIZA)
500,000 1CH 500
OFZI|(0l4F, 2482XA)
500, 0002 *2CH 1,000
OURD(EBABATIEA)
400,000 % 1CH 400
OAIRAIZ OITHOIN, SHBAR A, AMBATZA)
300, 00024 6CH 1,800
OSHER L QRN ESHSAKA, HEBAR2A)
800, 00024 *2CH 1,600
(2VSHEEZA S 018 AEAY 6,000 16,050 A10,080
= 3,999
[ 1,000
Al 1,001
405 XHAHE S 6,000 16,050 10,050
= 3,999
[ 1,000
Al 1,001
01 AL SEF S 6,000 16,050 10,080

2,000,000 *1CH 2,000
s 1,333
e 333
Al 334
OXsEH 7(PREATZA)
2,000,000 1CH 2,000
s 1,333
= 333
Al 334
OXsEH P (=MEAHTZA)
2,000,000 *1CH 2,000
s 1,333
S 334




A 2AHA
M BN BHGH(PAH/2AAR)
ohelr BAsE e (crel: M)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
| A 33
BEEEEREEEIRE 60,000 86,994 726,904
2 30,000
= 9,000
Al 21,000
201 Ler= | 4,900 5,908 72,008
= 2,450
& 735
Al 1,715
01 Ar= et 2,900 5,600 AT00
OuAEH 2ES M
7,00022Z#35024 4,900
= 2,450
= 735
Al 1,715
307 DI2H0[ 3 55,100 42,000 13,100
s 27,550
= 8,265
Al 19,285
NEEEEEE] 55,100 42,000 13,100
Ool2so AAEA X 41,504
R VL
40,690 21852 1274 2 41,504
= 20,752
= 6,225
Al 14,507
OB FHROYUE U 42F 72l
3,399,00021%43] 13,59
= 6,798
= 2,040
Al 4,758
EE=NSTE 522,970 531,943 8,973
| 441,510
= 18,260
Al 63,200
ool 2% 9 R 20,660 19,633 1.027
101 o1218] 770 733 37
IS EI = =TEPS 770 733 37
O™IIHER 2 QA Z2|(Wa L HEXY S)
A=Y 76,9602 *12%10L 770
201 Ler= | 2,700 8,700 2,000
0T AF= el 9,700 5,700 2,000
Oolote 21t #40 R
60,0002 *5&*23] 600




A 2AHA
HE: BAAY BASHEA/BHOR)
oel: o dH CEEEED
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
OS=29z 2 252 A
5,000 21%2Z*300H 3,000
OAHANE IS =222 HX
2,00021*3Z 50004 3,000
OAHANSE IS 22 TAE, 2123 HIX
1,000 21+2Z*500H 1,000
ORR(HRIQRI|Z) T2 R L4
50,0002 *2CH* 12 1,200
OoleteiA XI8EY T203 SXE4
75,0002 *1CH* 122 900
02 Z229H| 3,000 3,000 0
O2ZI|2 OHEEA Uy 242
250,000 * 1200 A 3,000
301 LErEEZ 1,190 1,200 A10
TENSEES 1,190 1,200 ~10
Oolet@e|ge =X 2ieks| 2
7, 00024502 *23] 700
OAHAME IS O HAHZ
3,50024%140% 490
307 QI2FOIA 1,000 1,000 0
NIEEEEET 1,000 1,000
OAHAME DSE Y2 Z2I2E 1(2eA
224, 224 )
2,50024*4Z% 100 1,000
AEEEERE] 5,000 8,000 3,000
01 Al&H 5,000 8,000 23,000
OSZol2/E)| QA L SR ALS HEH
5,000,0002% 14! 5,000
S RETEREIE 2,000 2,000 0
9] 1,400
[= 200
Al 400
201 Lere | 2,000 2,000 0
p] 1,400
[~ 200
Al 400
01 AlRZelt] 2,000 2,000 0
OtlzSE 29 2 2822 Y
1,500,0002%14! 1,500
p] 1,050
[ 150
Al 300
OO 2HHITHE B
250,000 *2% 500
9] 350
[ 50




A 2AHA
HI: SAANY SYSH(2A/2219/2)
s 2R ey (CHl: X 21)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
| Al 100
(2)FAXS SSAZMIE - J12 2] X 385,110 385,110 0
Il 385,110
307 2I2H0IA 385,110 385,110 0
Il 385,110
02 QIZFHMAIRIEE 385,110 385,110 0
O 23ARI|2 29 NSA(QIAH 2SAL
192,555, 00021 %24 4 385,110
pJ 385,110
(S)XIHrA QA ZIAY X 110,000 110,000 0
Il 55,000
[ 16,500
Al 38,500
307 2I2+0IA 110,000 110,000 0
pJ 55,000
[ 16,500
Al 38,500
05 QIZH9IErS 110,000 110,000 0
OZLYHA MY T208 2
110,000, 0002 *14} 110,000
Il 55,000
[ 16,500
Al 38,500
(Z)HOILZES| X2 X2 4,000 4,000 0
[ 1,200
Al 2,800
201 ZEr2 | 4,000 4,000 0
[ 1,200
Al 2,800
01 AFR2+2lt] 4,000 4,000 0
OH2I%E 2| 22t B22 M=
5,600 100JH*53 2,800
[ 840
Al 1,960
OH2AE =HE 7 60,0002 *20H 1,200
[ 360
Al 840
BT EEPEREES 1,200 1,200 0
[ 360
Al 840
301 LBHERZ 1,200 1,200 0
[ 360
Al 840
TENEES 1,200 1,200 0




A 2AHA
M PAARY SHSHEAH/EAHOR)
CHel 9| Sy (EERSED)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
OAHIXIRIZIDIZAIR &
50,0002 %22 12 1,200
[ 360
Al 840
S AR, AFY 4,677,304 4,759,327 A82,023
= 529,500
z 250,000
p) 25,930
[ 575,085
Al 3,275,255
= 21,534
DIEAH AFY 58,220 58,220 0
201 L2 A 8,200 8,200
01 AFR2t2IHI 8,200 8,200 0
OZXEHAIY &R 6,600
—QIAE ZAIEH| EEEE 20
18,0002 %200 3,600
—QXEHAIY EE2S HE
1,00024x2Z+1,0000H 2,000
—0R42 NS HIE
1,0002%1Z+1,0000H 1,000
OZXeAH 22 2HQl 1,600
— &0 M= 60,0002 *10& 600
—-222 U =SE2E MF
1,00024%1Z+1,0000H 1,000
206 THEH| 3,430 3,430 0
IEEL 3,430 3,430 0
OLXEnAl = 7,0002 302 *83) 1,680
OZ4ADIA oH=D| ME H2H|
5,0002%350% 1,750
301 LEEAS 1,390 1,390 0
11 #ALAHIXIRS 490 490
O WAl 2HAIHIZ
3,5002%35H*43] 490
14 J|EI2 A3 900 900 0
OUArE WAl AL &g
150, 000463 900
307 2I2H0I& 45,200 45,200 0
01 A2 R2H| 45,200 45,200 0
ORNEAHAIEE UM L 22ARE 22
45,200
—ae EEH 14, 000 +400%H 33| 16,800
— AR FAH| 5,000 x400%H 23] 4,000
— A0t A 20,0002 %4002433] 24,000




A 2AHA
HE: HAAY SHFH(EH/2HAR)
el EAEY AY (Crel: &)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
— AR 2 AR RADE
5,000 *80M 400
AR KA 2,618,400 2,606,400 12,000
201 LB 12,000 12,000 0
01 AlR2r2lH] 12,000 12,000 0
OBAEZAAE X B2
250,00024% 122 3,000
OZ4 SOIBE AZE 7Y
100, 0002 *20CH 2,000
O=B4EZ 222 S ME
1,00024%1Z+1,0000H 1,000
OSAEHAIY PPT HIE 500,000 %1 Al 500
OSAEAIY 2H Q! 2,300
—E82 H& 1,0002/%2Z*1,0000H 2,000
—&==0 M 60,0002 x5= 300
Oop|FRISEE 23 3,00024*400% 1,200
OSAEAIY HIF 7R
50, 00024402 2,000
301 LBIEAZ 2,606,400 2,579,400 27,000
03 A2 E LGS (XL ) 2,606,400 0 2,606,400
OBAEA3 2,246,400
—SAEE2(LAID)
500,000 %360 180,000
—SMEAS(2ES) 2,066,400
- 20208 0|5 SA0F U] 2,066,400
HAOL 200,000+ 1632 * 12 391,200
pE=y (o]} 300,00024%257 % 12 925,200
sAITHOF Ol A
500,000 %1252 %122 750,000
Odt=xe|d| X 1,000, 000213602 360,000
(2) 20 AT XA 500,000 500,000 0
= 250,000
[ 125,000
Al 125,000
307 2I2H0IA 500,000 500,000 0
= 250,000
[ 125,000
Al 125,000
02 DIEEAMAIIE X 500,000 500,000 0
O=ohteoI) 29 X
500,000,0002 174 A 500,000
= 250,000
[ 125,000
Al 125,000




A 2AHA

HI: HAAY SYFH(EA/2H2B)

ol EAEH ALY (CHl: X 21)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
(DVEZ2NESASE HE 600 700 A100

pJ 300
< 90
Al 210
307 QIZHOIA 600 700 A100
pJ 300
= 90
Al 210
05 QIZI9IERS 600 700 A100
OEFE 2U2ASH M= 9/
2,0002*300 600
pJ 300
= 90
Al 210
(2)FLEND AASA o2 X 2,400 2,400 0
pJ 1,200
= 360
Al 840
301 YBHEAZ 2,400 2,400 0
pJ 1,200
= 360
Al 840
INEEEER T EMEESTE) 2,400 2,400 0
OFAHE A3 ol2H| X
1,200,0008 %22 2,400
pJ 1,200
< 360
Al 840
EREEREEEEINE] 10,000 10,000 0
pJ 5,000
= 1,500
Al 3,500
307 CIZHOIA 10,000 10,000 0
pJ 5,000
= 1,500
Al 3,500
IEEEEER] 10,000 10,000 0
ODNSLUAL o|2H| X
500, 00024 %20 10,000
pJ 5,000
< 1,500
Al 3,500
SN EEREENSEEEIPE 10,420 8,400 2,020
pJ 5,210




A 2AHA
M SAANY EHSHEH/EAHAZ)
ol EAEH ALY (CHl: X 21)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
< 1,563
Al 3,647
307 2I2H0IA 10,420 8,400 2,020
pJ 5,210
[ 1,563
Al 3,647
01 A2LP2H| 10,420 8,400 2,020
O0I=0t & A&HH0IA0F 224 X
521,0002%20 10,420
pJ 5,210
= 1,563
Al 3,647
() LA AL AL BHoF 22 13,000 13,000 0
pJ 6,500
[ 1,950
Al 4,550
301 LEEXZ 13,000 13,000 0
pJ 6,500
[ 1,950
Al 4,550
NEEEEREIENEESTE) 13,000 13,000 0
OSZSTHAIOI A ZEAL & Stor2i2| I
650,000 %20 13,000
pJ 6,500
[ 1,950
Al 4,550
(2)LFY HH2AM 2 EFI| X 3,000 3,600 AB00
Il 1,500
[ 450
Al 1,050
301 LEHEXZ 3,000 3,600 600
pJ 1,500
= 450
Al 1,050
01 ARRIEEESHZ2(ZDEXTR) 3,000 3,600 AB00
OLts ZJ|RIE X1 750,000 x4 H 3,000
pJ 1,500
[ 450
Al 1,050
()M & ZHES N 129,000 127,000 2,000
= 64,500
[ 19,350
Al 45,150




A 2AHA
M HAAY SHSH(2AH/222AR)
el EAEY AY (Crel: &)
SA - FH . SRI(B) - HIRAY - BAS il b ] Hl D=2
301 LBtEA S 129,000 127,000 2,000
= 64,500
[ 19,350
Al 45,150
01 ABIBHEAHZ(ZDEZTR) 129,000 127,000 2,000
OMASE JIMH L EHER KA
500,000 x2582 129,000
= 64,500
[ 19,350
Al 45,150
(2)2NEHAILAE TR 26,334 23,452 2,882
p) 2,400
[ 720
Al 1,680
= 21,534
101 o124] 26,334 23,452 2,882
p) 2,400
< 720
Al 1,680
= 21,534
SIFEEI RS 26,334 23,452 2,882
ORXEHAIAEEQIZ ol 26,334
— oIl 76,9602 % 124x2852 21,934
p) 2,400
< 720
Al 1,680
= 17,134
—408E S 400,0002+ 11 4,400
= 4,400
(R)IR0rRALAA 2,250 2,250 0
p) 1,800
Al 450
301 LEEAS 2,250 2,250 0
p) 1,800
Al 450
01 AFBIEEEAGS(2REZ) 2,250 2,250 0
OYK0F AYAXH| X
37,5002 +60H 2,250
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p) 500
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Al 350
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p) 500
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Od&y 600, 0002 *1CH 600
p] 300
S 9
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(OL=PIEESD) 450,000 =2CH 900
p] 450
[ 135
Al 315
O&=JI 500,000 *1CH 500
p] 250
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Al 175
I EEEESE 1,200 6,500 5,300
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Al 840
301 YEEHEZ 200 500 300
[ 60
Al 140
14 JIEIR A2 200 500 A300
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50,0002 42 200
[ 60
Al 140
307 SIZHOIA 1,000 1,000 0
[ 300
Al 700
01 922 7ZH| 1,000 1,000 0
OS2418F IHAAIERH XIZH|
500, 00021+ 1,000
[ 300
Al 700
() BARAYSNME BARY 10,080 10,080 0
[ 3,004
Al 7,056
101 01218 10,080 10,080 0
< 3,004
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—s=9 & 60,0002 * 151 900
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—23 Mz 2 5,000 *200H *23| 2,000
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Al 56
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Al 50
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Al 70
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287 5002800 230,000
= 149,500
Al 80,500
(R EEAWCAZZS A 800 1,300 A500
| 640
= 48
Al 12
201 LEH2 ] 200 600 400
pJ 160
= 12
Al 28
01 A2 200 600 400
OZSAMCABBEAAY ABH Y| XIS
100, 00024 %221 200
| 160
= 12
Al 28
301 LEHEXZ 600 700 A100
p 480
= 36
Al 84
11 ALK 22 600 700 A100
OZZXI=Q Z2E20! S|
600,00021% 14! 600
p 480
= 36
Al 84
(S)XINEH KA 9,250 10,625 A1,375
= 2,775
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X XH -
(=

£l XI0h2e (G2 &)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
Al 6,475
201 LB 550 1,405 A\855
[ 165
Al 385
01 AlR2r2lH] 550 1,405 855
OXINEE MA HIX 1,0002*550= 550
[ 165
Al 385
206 M=l 3,380 3,900 A520
[ 1,014
Al 2,366
01 MZHI 3,380 3,900 A520
OXIH&EE W2 2
13,0002 % 130223 3,380
[ 1,014
Al 2,366
301 LBIEAS 5,320 5,320 0
[ 1,59
Al 3,724
TEERES 2,600 2,600 0
OXIDH&IE 0Kt 2talH]
2,000 130Ex103] 2,600
[ 780
Al 1,820
14 J|EtB A2 2,720 2,720 0
OXIH&E SAg
80,0004+ 179H Ax23] 2,720
[ 816
Al 1,904
MY 2A A (BHAIS D) (DIEHIIED 1,987,906 1,829,859 158,047
p) 521,543
[ 67,973
Al 1,398,390
REEET] 1,587,640 1,435,931 151,709
p) 521,543
[ 67,973
Al 998, 124
REEET] 839,520 775,957 63,563
101 o124] 837,892 774,434 63,458
01 B 451,700 389,541 62,159
OAZIQRRALH BHA BAHK|A, BAR2A)
11, 13021892 x38A[ 2+ 122 451,700
02 J|EtRIE 4 338,927 338,035 892
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M HNSHAH|(BHAID) (DIEHJIE})
Cel: ol 29| (EERED
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
OZZEEAYA M E=H
900,000 %24 2% 122 259,200
OZEEHOA f822s
50,0004 *24 % » 122 14,400
ODRLHY HERZA 22 SELEAHOAL 2SS
21,645
-4 45,0002 122492 11,205
-2 90,0002+ 12116 10,440
O2ZLHY HUFE2R ZEEAHAL IS EEH|
45,0002+ 12 #1202 5,400
OAlHAMSE S STPEYD ARSI HI(0I2)
38,282
—Jl2s 2,332,000+ 1128 27,984
—JtESY 1,440
HH < Xt 400002412+ 122 480
KHA () 20,00081% 1%+ 122 240
- XA (S M) 60,0002 %1122 720
—A2te|2eag
9, 16024 +20 Al 2H1 122 2,19
—Jugald| 140,0002 %1% x 122 1,680
— It A
2,332, 0002 *86%+84%+ 1/30%1/7+84 Al 2 674
—S4N24g 16,0008+ 1% * 128 1,392
—4n=E 242 75024+ 1H+128 2,913
03 2R (RIHA) 22 L4 47,265 46,858 407
OFAlZ2I 47,265
== 2,622,250+ 1128 31,467
—EESIH 2,622, 2502%23|x75% 3,934
—Hasy 2,622, 25021 %50 12 *23] 2,623
—A2tel2ag
16,3082 % 150%+ 1 * 15A| 2bx 12 4,404
—oxREEIILY
130,460 %1152 1,957
—ZHZAlY| 140,000+ 1+ 122 1,680
—WELZEH| 100,000 %124+ 122 1,200
204 ER4AH| 1,628 1,523 105
02 S E X 1,628 1,523 105
OdHAME S XA AZHAET AI[H(0HS)
=N
155,00094%35/40n*1 B 122 1,628
E R EEEIEEL 491,610 459,894 31,716
p) 393,288
[ 29,497
Al 68,825
101 Q124H 475,335 444,669 30,666




A 2AHA
M HNSHAH|(BHAID) (DIEHJIE})
Cel: ol 29| (Chol: ®2l)
SA - A SR(B) - AIRAI - BAS o vy ] bl D2
D] 380,268
[ 28,520
Al 66,547
02 JIEHE 24 385,368 360,785 24,583
OXIOHQAIAIE] AlZHE BRI | 385,368
— QI 24H| 2,500,000 %10+ 122 300,000
p) 240,000
[ 18,000
Al 42,000
—JiEeg 100,000 * 10 * 122 12,000
p) 9,600
[ 720
Al 1,680
— A2tz Ry
9, 16024 *20 A1 210 * 122 21,984
p) 17,587
[ 1,319
Al 3,078
—Jugald| 140,000 * 10« 122 16,800
p) 13,440
[ 1,008
Al 2,352
— QB A
2,500, 0002 #86%* 1/30% 102 x5! 3,584
p) 2,867
[ 215
Al 502
—4U 28 250,000« 102128 30,000
p) 24,000
[ 1,800
Al 4,200
—T|=H| 100,000 %10 1,000
p) 800
[ 60
Al 140
03 ZRE(RIH ) 22X 89,967 83,884 6,083
@feibal:] 2,552, 0002 %22+ 122 61,248
p) 48,999
[ 3,675
Al 8,574
OYZE=IHI 2,552,000 x75%+25] «2 H 7,656
p) 6,125
[ 459
Al 1,072
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CRIPS
M MNSHAH|(BHAI D) (DIEHIIEH
Cel: ol 29| (EERED
S - B - ORI(3]H) - HISAR - BaS Ol kot ] HIDE2
OARIRIZRSL
15, 2262 % 15002 A| 202 x 122 1,097
p) 878
[ 66
Al 153
@fEbysi=Ea=, 121,808 %22+ 152 3,655
p) 2,924
[ 219
Al 512
OFAH=AHI 140,000 %23 x 122 3,360
p) 2,688
[ 201
Al 471
OnsSExH| 100,000+ * 122 2,400
p) 1,920
[ 144
Al 336
OJE4Y 60,0002 2%+ 12 1,440
p) 1,152
[ 87
Al 201
o4t 300,000+ 122 7,200
p) 5,760
[ 432
Al 1,008
Ol =t| 100,0002 %2 200
p) 160
[ 12
Al 28
@FsF==u= 2,552, 00024%5 . 0%+2 % *23] 511
p) 408
[ 31
Al 72
OS4224Y 50,0004 x 122 1,200
p) 960
[ 72
Al 168
204 R4 Y] 16,275 15,225 1,050
p) 13,020
[ 977
Al 2,278
02 28X 16,275 15,225 1,050
OAlRZIEEID N 228 B2 X
155,000 %35h/40h* 102 12 16,275




A 2AHA
A MH2AAH|(BAAID) (DIEHIIE
s 1523 (CHl: X 21)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
I 13,020
= ar7
Al 2,278
(2PN ZHUAL =X HE QXA 256,510 200,080 56,430
pJ 128,255
< 38,476
Al 89,779
101 2121 246,070 193,360 52,710
pJ 123,035
< 36,910
Al 86,125
02 JIEHE =S 246,070 193,360 52,710
OFAALSXIME] AlZHHEAT || 246,070
puicibalsl 2,700,000 6%+ 122 194,400
pJ 97,200
= 29,160
Al 68,040
—JiEay 150,000 *6Z* 128 10,800
pJ 5,400
= 1,620
Al 3,780
—AlRteI2 R4y
10,00024% 18AI 26 122 12,960
pJ 6,480
= 1,944
Al 4,536
—ZHZAlY| 140,000 6+ 122 10,080
pJ 5,040
== 1,512
Al 3,528
—4n= 247,630 +6Z* 128 17,830
pJ 8,915
= 2,674
Al 6,241
204 HRLEAL] 10,440 6,720 3,720
pJ 5,220
< 1,566
Al 3,654
02 BZEXH] 10,440 6,720 3,720
OAlZISEID|H 222 MBEZH|
145, 000262 * 128 10,440
pJ 5,220
< 1,566
Al 3,654




2M B2
M HFHRAAH|(2HAILD) (DIEHIIE)
Sl Jl2d| (crel: M)
SA - B - O9I(B) - KISAY - BAS Ollaro ] Hlms2
SR 400, 266 393,928 6.338
SIEE 400,266 393,928 6.338
201 ZEr= | 168,496 149,688 18,808
01 AFRZr2l] 72.866 69,758 3,108
O AHA D 45,792
—2AEX 2
20,0002 %228t Ax 122 5,280
—S20AH| 8,000 *6A1x22%« 122 12,672
—uBtpaz 100,0002* 122 1,200
—ARD AU 50,0002 122 600
—ARDAHY| 10,290
- 2AD| 22 1,000,00024% 1. 50 1,500
- IRIE 2 100, 0002 *5CH*50% 250
SAD] EY 200,0002/%53]*1.5CH 1,500
DRI EH(SH
200, 00024 *55|*5CH 5,000
- DRIE El4(2e
200,00024*53]*1CH 1,000
-PC £2 100, 0002 *22CH*20% 440
- J|EF 2=2lb] 50,0002 122 600
—JIE Al 2RI 5,000 222 * 128 1,320
—o - HEY| 14,430
RS 60,0002+ 1%+ 1162 6,960
=3 30,00081% 1942492 7,470
OZAXA 13,720
—=2AER 7Y
20,00021* 158t A %12 3,600
—E204AH] 8,0002 x3A1x15%* 122 4,320
— Uk 100,000 * 1074 A 1,000
— AR 3,900
C2AD| 22 500, 00024 *1CH 500
- TRIED| 22 100, 0002 % 10CH*50% 500
- =2AD] EY 200,000 %25 *1CH 400
- TRIED| EY 200,000 %25 *4CH 1,600
-PC 22l 100, 0002 * 15CH*20% 300
- J|Er=2IY] 50,00021% 122 600
—J|Et Al 22l 5,00024 158 * 122 900
SARZA 13,354
—=Z AR 7Y
20,0002+ 138 Ax 122 8.120
—S204AH| 8,0002 x3A1x 132 %122 3,744
— B4R 100,000 %1374 A 1,300
—ARD 2] 4,410




2M: BHA
M. HNHSHAH|(Z2HAKD) (DIEH DIE})
<j::;

25i: Ji=2 (Etel: F2)
SN - B SR(3H) - MBAR - BYS ofl Ao ] HIS2
SAD] =2l 500,000+ 1CH 500
el =2l 100,000 * 13CH*50% 650
SAI EU 200,000 %23 *1CH 400
el Ed 200, 000253 *2CH 2,000
- PC =2l 100,000 13CH*20% 260
- J|Et ==2lb| 50,0002+ 122 600
—J|Eb AtR22(H| 5,000 %138 %12 780
02 2229H| 95,630 79,930 15,700
OMIIRB(EEHE IT) 79,200
-2 3,300,000+ 12& 39,600
—az 3,300,000 * 122 39,600
OREYS AIZ2ZE 80,0002 122 960
Ooxste32 100,000 %12 1,200
Odlot=ER23 350,000 %122 4,200
OAget&Eal| 50,0002 %13 50
OAgt IMEA £42
1,000,000 13 1,000
OZZ)|2 ¢stzelxt Bs
120,000 <23 240
Ogtgt2te|XH H3iH| 100,000 %13 100
OXSIEHA 02 500,0002*23] 1,000
O2ANLS RERS 7,680
— B} 40021*5000H* 12 2,400
=2 2,20024*2000H* 12 5,280
202 04| 206,010 217,620 A11,610
01 20 206,010 217,620 A11,610
OBHAI I AREZE0H 90,000
—ZHHOIHI (Al S EHH 1Y B
20,00021%23%* 12U *12& 66,240
—2204H| 90,000 %223« 122! 23,760
OZEEAH2AA HRFF 0 22,770
— 204 20,0002 *23H*3U* 122 16,560
— 29|04 90,0002*232432! 6,210
OBHXA, 24 ARFTOH] 93,240
—ZHHOH 20,0002 *28% * 122 » 12 80,640
—22|04d| 90,000 R *28 T x5! 12,600
203 LRI 12,940 13,120 A180
01 |22 UDEZAIH 3,300 3,300 0
OJ|22Y ARFXH|
3,300,000+ 12 3,300
02 HAIIAA LRI 3,520 3,520 0
OFIAARETIY| 40,0002 +88% 3,520
04 ENSHADEAIH 6,120 6,300 A180




A 2AHA
Mo AFSAAY|(2AALD) (OIEHIIED
Sl Jl2d| (crel: M)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
CEREEEEES R GEINE=NY
510,00024+ 122 6,120
204 AR 6,000 6,000 0
NEEEEEEEEL 6,000 6,000
ORBIADAHAY| 6,000
—BAAR 400,00024+ 12122 4,800
—EAAR DR 100,0002+1Z 122 1,200
405 RHF S| 6,820 7500 680
NP EEEEET] 6,820 7,500 2680
OTSX UE x| 1Y
6,820, 00024 1CH 6,820
NEEEESSEETEEETE) 4,902,787 5,945,919 1,043,132
= 359,851
2 32,862
p] 1,466, 181
= 722,583
Al 2,317,350
z 3,960
ABEE AT 823,804 752,112 71,692
p] 358,847
[ 118, 153
Al 342,844
= 3,960
NEEES R 60,950 0 60,950
201 YEr2 9| 47,150 0 47,150
03 #A2ZH] 47,150 0 47,150
OAIDI212 FIB0IY AL 2
47,150,00021% 14 47,150
301 YEEH= 13,800 0 13,800
1T AR S 13,800 0 13,800
OAIPIZY XS0t #AL 2
13,800,000 * 1Al 13,800
(VXA SSATETAY 394,086 388,012 6,074
p] 195,063
= 58,518
Al 136,545
= 3,960
101 o124 65,210 63,067 2,143
y] 32,605
< 9,781
Al 22,824
IEIy =TS 65,210 63,067 2,143
O (FE4Y BF)
76,9602 x22+311 47,870




A 2AHA
R AIQIAY BR(2A/2AH92)
Pl AASE ALY (CHl: X 21)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
Ol 23,935
[ 7,180
Al 16,755
O4t=2E 250,000 x2% » 12 6,000
p] 3,000
[ 900
Al 2,100
O&I=3 2,000,0002+2% 4,000
p] 2,000
[ 600
Al 1,400
Ot 2= 70,00024*2% 140
p] 70
[ 21
Al 49
ool 300,000 2% 122 7,200
p] 3,600
[ 1,080
Al 2,520
201 2Bt 91,606 91,625 A19
p] 45,803
[ 13,740
Al 32,063
01 AF2 22l 78,106 78,125 A19
O] ez ¥ =82 HE
2,000 %45 1,250 10,000
p] 5,000
[ 1,500
Al 3,500
OSSHAZAAIY 012 QetnSH|
350, 5002422 701
p] 350
[ 105
Al 246
OYYANE Iz L 282 M=
2,000 % 15+7005 1,400
p] 700
[ 210
Al 490
OZIIXEX EEE &) M=
28,4502 * 100K 2,845
p] 1,423
[= 426
Al 996
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A ANQAZ BSE(L2A/22427)
Pl AASE ALY (CH: M2l
= PSiS s
SN - Z2 - GRA(3) - MRA - BES Oi &k 01|'|\_F°” HwSZ
— T

OgLSeIAANG EE2S MA

70,000 +8H

2,000 +500F+38

2,000&*3, 100K

2,000&1,5000125

OXSAMISHTHEAY E22 MA

2,000 *1,2500125

OOIEL| &4 ollgael 222 M

2,000 +1,5000H%25

2,000&+75001+25

20,0003 500

H

Al

H

Al

H

Al

in

Al

H

Al

H

Al

H

Al

H

Al

H

Al

4,000
2,000

600
1,400

560
280

196

3,000
1,500

450
1,050

6,200
3,100

930
2,170

5,000
2,500

750
1,750

6,000
3,000

900
2,100

5,000
2,500

750
1,750

6,000
3,000

900
2,100

3,000
1,500
450
1,050
10,000




FA: BAL
Ha: AlQIAY B (/2210 2)
£l AUSE ALY (el M2l
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
| 5,000
& 1,500
Al 3,500
OZuRI=E E2= MA
2,000& *1,500H 3,000
D) 1,500
& 450
Al 1,050
O=0t23 & AE2F F¥
140,0002+108 1,400
| 700
= 210
Al 490
OREE 28 2e=x Mz
10,000, 0002 * 14 10,000
| 5,000
& 1,500
Al 3,500
03 &AH2ZH| 13,500 13,500 0
O7&2A olg=3 2o
2,300,000&*13] 2,300
Il 1,150
= 5
Al 805
O7& &AL & EES M
2,000&*1,000H 2,000
Il 1,000
& 300
Al 700
OOIEN| Al QIE2 20 U HAUT 2
2,300,000&*43] 9,200
Il 4,600
& 1,380
Al 3,220
202 044l 12,600 12,600 0
| 6,300
L= 1,890
Al 4,410
01 2LHOLI 12,600 12,600 0
OUL&E SEE ol
90,000 10K+ 14 12,600
Il 6,300
& 1,890
Al 4,410
206 =4I 25,800 23,800 2,000




A B
T AR SE(22/22R)
Chol: ZAZT A (Crol: xal)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
| 12,900
& 3,870
Al 9,030
01 M=Hl 25,800 23,800 2,000
OHBMEARAIY WE THZHI
10,000 x25%*203] 5,000
Il 2,500
& 750
Al 1,750
OHZ100M SH=0HE 29 TH=HI
10,0003 x50 *102] 5,000
| 2,500
& 750
Al 1,750
OaAe| HE HEH
12,000&*150H 1,800
| 900
& 270
Al 630
Odzig 2o 2e] M=l
12,0003 *25H *43] 1,200
Il 600
& 180
Al 420
OMEAME w=s M=t
12,0002 *50E +63] 3,600
| 1,800
& 540
Al 1,260
OOtEIl &A! olgh2e| M=
12,0003 6004 7,200
| 3,600
& 1,080
Al 2,520
Ogare wal =l
10,000& *25H+83] 2,000
| 1,000
L= 300
Al 700
301 LetEE= 143,700 147,750 A4,050
| 69,870
& 20,961
Al 48,909
= 3,960
01 A2 LGS (RNEETH) 91,120 87,370 3.750
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A B
Hu: ALY ER(SAH/2HAR)
£l AUSE ALY (chel: =2l
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
Al 2,898
OOIETIZA! DS B} 2AA]
3,000 *860H 2,580
Il 1,290
& 387
Al 903
O=21ZI| A 2tAlH|
3,000&*700H 2,100
J| 1,050
= 315
Al 735
14 JIEIE 43 28,400 33,200 24,800
OZIIXNER 2 ZA=E
1,700,000&*23] 3,400
| 1,700
& 510
Al 1,190
Os8s 20|us A=Y
500,000& 122l 6,000
Il 3,000
& 900
Al 2,100
OAVMBAMARADS DALY
70,000&+100=! 7,000
| 3,500
& 1,050
Al 2,450
OHZ100HI H=EHE ZAE
70,000&*603] 4,200
Jl 2,100
& 630
Al 1,470
Odl gz 2e] s 2A=E
100, 000&* 123 1,200
J| 600
& 180
Al 420
OMEAY W 2Ae=Y
100,000&*302] 3,000
| 1,500
& 450
Al 1,050
OOtEIl &A! olgh2te| ZAt="
100,000& 263! 2,600
D) 1,300
& 390




SA BAA
HE: AR BR(LAH/EAHZ)
el AASA ALY (Crel: &)
K- EE . S2l(33) - HIRAY - A= il b ] Hl D=2
Al 910
OUAZ AL ARG 100,000 %103 1,000
p] 500
[ 150
Al 350
307 2I2I0IA 55,170 49,170 6,000
p] 27,585
[ 8,276
Al 19,309
01 92 R2H| 55,170 49,170 6,000
HLSE HAHAK QBARE 79
66,8002 %255 1,670
p) 835
[ 251
Al 584
OZITE ADE gl 2,00024*500% 1,000
p] 500
[ 150
Al 350
OTZLUAIS AZE 7
2,0002%1,00074*2F 4,000
p] 2,000
[ 600
Al 1,400
OalL| s s L] J2AZE 1
10,000 *475E+25 9,500
J| 4,750
[ 1,425
Al 3,325
OUAIES 22| QZARE 7o
20,0002 +350E 25 14,000
p] 7,000
[ 2,100
Al 4,900
OTHEAL 92AZE R0
10,0002 100E+25 2,000
p) 1,000
[ 300
Al 700
OOIETL HAl pjetate| 2AZE 1
10,000&*3500H %25 7,000
p] 3,500
[ 1,050
Al 2,450
OutL sty er XI& 100,000 %50 5,000




A 2AHA
M NQAHY SA(BAH/BA9Z)
Pl AASE ALY (CHl: X 21)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
| 2,500
& 750
Al 1,750
o4t Ml X 10,0002 +400H 4,000
| 2,000
& 600
Al 1,400
OXIHED] & K&
70,000 %100 7,000
| 3,500
& 1,050
Al 2,450
(2)22HA DY AN A 36,528 36,528
| 18,264
& 5,479
Al 12,785
101 2124b| 15,148 15,148
| 7,574
& 2,273
Al 5,301
04 J12tHIZ22 S E 15,148 15,148
Ot SAHAIY 212 15,148
-y 76,9603 x1H 152 11,698
| 5,849
& 1,755
Al 4,094
—ItEY 60,000&x7& 420
| 210
& 63
Al 147
—40EE= 260,000+ 72 1,820
| 910
& 273
Al 637
— 2= &I 150,000+ 7L 1,050
| 525
& 158
Al 367
—Il=] 80, 00024 +2eH 160
| 80
& 24
Al 56
201 et | 8,330 8,330




A 2AHA
M NQAHY SA(BAH/BA9Z)
Pl AASE ALY (CHl: X 21)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
| 4,165
& 1,249
Al 2,916
01 AR2t2(dl 8,330 8,330
Otsgi 7 100,000 %50 5,000
| 2,500
& 750
Al 1,750
oAz 423X |
50, 00024502 2,500
| 1,250
= 375
Al 875
OZ=zy g8 2 830,000 * 1Al 830
| 415
& 124
Al 291
301 Let8&Z 5,250 5,250
| 2,625
& 787
Al 1,838
11 HARHIXIRZ 450 450
OFAT 2HA HIS 3,000 x50 *33) 450
| 225
& 67
Al 158
14 J|Et2 &2 4,800 4,800
OZA==E XIS 150,000 %4 A| 2++83] 4,800
J| 2,400
& 720
Al 1,680
307 2I2H0| ™ 7,800 7,800
| 3,900
= 1,170
Al 2,730
01 =L =ZH| 7,800 7,800
OAzzel tyolA 7
60,0002*35H*35 6,300
| 3,150
& 945
Al 2,205
OJZ=BA 2228 7
10,0002%50%*33] 1,500
| 750




A 2AHA
R AIQIAY BR(2A/2AH92)
Pl AASE ALY (CHl: X 21)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
< 225
Al 505
SN ENCEREENELEES 291,040 300,000 8,960
p] 145,520
[= 43,656
Al 101,864
101 Q1] 62,110 59,967 2,143
9] 31,085
[ 9,317
Al 21,738
04 JIZR2Z2NEES 62,110 59,967 2,143
O2HAIIAL QIAH|(=54g Tt
76,9602 %2 *311 47,870
p] 23,935
[ 7,181
Al 16,754
ool 200,000 +2% » 122 4,800
p] 2,400
[ 720
Al 1,680
o428 200,0002 2%+ 122 4,800
p] 2,400
[ 720
Al 1,680
Ofx= 2,200,0008 %22 4,400
p] 2,200
[ 660
Al 1,540
OJIZtHeIe ae= 120,00024x2% 240
p] 120
[ 36
Al 84
201 LBr2y| 145,820 156,923 A11,103
p] 72,910
[ 21,872
Al 51,038
01 AFR2eld| 135,587 146,690 AT1,103
O2UAIY EB2(EBHM}, 2123 S) HH
6,000,000 %14l 6,000
p] 3,000
[= 900
Al 2,100
OlA 29 2 520,000 *7CH* 102 36,400
p] 18,200




A

s
& 22 SA(EAH/BAH2Z)
&2l HASE A
A - FE - B2I(31) of . pa= ]
& 5,460
Al 12,740
OUELIE 2«2
57,967,000 *14] 57,967
| 28,983
== 8,695
Al 20,289
Oz¢+79 3 Xy HIE(EXE, 2H 5)
200,000 * 15000 2~ 30,000
| 15,000
& 4,500
Al 10,500
OREE 3¢ &1 2.200,000*13] 2,200
7 1,100
& 330
Al 770
O3%AIY A28 2 EIZ, OIRALIA S)
5,000 *400K 2,000
| 1,000
== 300
Al 700
OSHAEA B=H| 450,000 x2H 900
| 450
& 135
Al 315
OS¢ W=H| 30,000%43 120
| 60
& 18
Al 42
02 S=2Z| 233 233
OSHXTH AdliEE 233,0002%13] 233
| 117
& 34
Al 82
03 A2 | 10,000 10,000
Oz 2 s A 29
5,000,000&*23] 10,000
| 5,000
& 1,500
Al 3,500
202 04| 4,410 4,410
| 2,205
& 662
Al 1,543




A 2AHA
HE: AR BR(LAH/EAHZ)
Pl AASE ALY (CHl: X 21)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
01 =LHoId] 4,410 4,410 0
O2HAHIAALRS =& 0]
90,0002 *4*7 2,520
p] 1,260
[ 378
Al 882
Oolgel 2HXE WK
90,000 +3%H*7 1,890
p] o5
[ 284
Al 661
301 YBHEEZ 38,700 38,700 0
p) 19,350
[ 5,805
Al 13,545
14 JIEtE A2 38,700 38,700 0
ST LAY 70,0002 +103] 700
p] 350
[ 105
Al 245
O20XEH BE4
50,0002« 1602 x4 H 32,000
p) 16,000
[ 4,800
Al 11,200
Oz3dd3Xxt JI8s 50,0002%100Y 5,000
p] 2,500
[ 750
Al 1,750
OZGAISS &OIX} Alat 500,00024%23] 1,000
p] 500
[ 150
Al 350
307 2I2H0IA 40,000 40,000 0
p) 20,000
[ 6,000
Al 14,000
NIEEEEED] 40,000 40,000 0
O3¢EEN 2 BX8E ¢
10,0002 *20E+200S 40,000
p] 20,000
[ 6,000
Al 14,000
BEENEEEINE 35,000 38,000 A3,000




A BAX
FE: AQIHY BE(EA/22422)
Pl AASE ALY (CHl: X 21)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
[ 10,500
Al 24,500
201 Y2 7,680 10,680 £3,000
[ 2,304
Al 5,376
01 AlR2t2IH] 7,680 10,680 3,000
OALOIS A &8 4,560
—AL0l2 THAY 340t
60,0002 *1Z5+26 0 4 1,560
[ 468
Al 1,002
—HA0IE ZEAY BES ME
3,000,0002 %14 3,000
[ 900
Al 2,100
OAZNE U2 ME(IHE, ZAH S)
120,000 %267 4 3,120
[ 936
Al 2,184
206 M=t 7,800 7,800 0
[ 2,340
Al 5,460
01 M=l 7,800 7,800 0
OAZ=2I8 W
12,0002 %252 %261 A 7,800
[ 2,340
Al 5,460
301 LEFEXZ 19,520 19,520 0
[ 5,856
Al 13,664
TEEES 6,920 6,920 0
OOt FAAAS| 23| AT S
i 7,0008%30%x23] 420
[ 126
Al 294
OAYLA3 YT& HA oY
90,0002+10 900
[ 270
Al 630
OZ=Id &4l 300,000 %12 3,600
[ 1,080
Al 2,520
OALZ208 X KIS
2,0002+50Z 200 A 2,000
[ 600




A 2AHA
M AQIHY SA(EA/2AH2R)
Pl AASE ALY (CHl: X 21)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
Al 1,400
14 J|EtB A 12,600 12,600 0
OAUZZ2 8 AL
70,0002%1803 12,600
[ 3,780
Al 8,820
TLEA ALY 6,200 6,200
201 L2 S 1,740 1,740
01 AF22t2IHI 640 640 0
OTRULAHAIY &L T} HIZ
1,0002%5005 500
OAUXIOMH LS| AAIRIR 2
70,0002 +2%Hx 1 140
02 2229 1,100 1,100 0
OFUBAHAIY ZH| 22 1,100
—XIMFLIE 300, 000! *2CH 600
—&SEI 300,000 *1CH 300
—QARHE0IA 200,000 % 1CH 200
301 LEEAS 1,160 1,160
11 #AFAHIXI2I2 210 210 0
OTRUBAHAIY 2tet5| A 24|
7,000 %15 *23] 210
14 JIEI2 A3 950 950 0
OAUXIOF HLTHZ| AIME
25,0004+ 1970 m*2H 950
307 2I2H0I& 3,300 3,300 0
NIEEEEED] 3,300 3,300
OFYLAHE NSARE 22
15,0002+20Z+3E 900
OSX0LAIER 222 72
1,500 %2Z+800H 2,400
B2 52 AR 792,167 818,060 N25,893
= 17,036
= 32,862
p) 232,663
[ 225,589
Al 284,017
OHAIEIEE 2HR ALY 3,820 3,820 0
201 L2 S 1,720 1,720 0
02 2Z29H| 1,720 0 1,720
OZIIAATALY QHY2 s 2ER3
43024*4, 0002 1,720
307 2I2H0I & 2,100 2,100
01 222 R2H| 2,100 2,100 0




A 2AHA
HE: AR BR(LAH/EAHZ)
el UEEAH A (CHo: X 2l)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
OBHE B 2e] 2AHK e 2,100
—ZYAHESE BAK 50,00024*30E 1,500
—EHY2AA 20,0002 *30S 600
S22 2A2] AR 9,000 9,000 0
307 2IZH0IA 9,000 9,000 0
01 2L R2H] 9,000 9,000
OBI2AAR2IAIY AR 2 9,000
—Z2dIAHZE ZAHK 50,000+30E 1,500
—E YA 20,00024*100S 2,000
—YSte A HALR 6,0002*x250E 1,500
—THOtLERt HEEE
30,0002 *50H 1,500
—T}A 2,5002%1,000H 2,500
(2)USHLAC|AIS 65,724 80,713 A14,989
= 32,862
[ 9,859
Al 23,003
101 o12A4| 62,088 59,927 2,161
= 31,044
[ 9,313
Al 21,731
04 IRIMZ 2 EES 62,088 59,927 2,161
OQIR(FELL B
76,9602 x2H*313L 48,177
= 24,089
[ 7.227
Al 16,861
Oati=E 200,000 2%+ 128 4,800
= 2,400
[ 720
Al 1,680
ool 200,000 x2% 122 4,800
= 2,400
[ 720
Al 1,680
OExz 4,311,000 % 14! 4,311
= 2,155
[ 646
Al 1,510
201 LB 2,686 10,786 8,100
= 1,343
[ 403
Al 0




A 2AHA
ME: AQIAY ZR(BA/BAR)
el EEE2 A (G2 &)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
01 AlR2eld] 1,300 10,786 9. 486
OYSHAZZIAIY 02t YENSH|
240,00021+5% 1,200
= 600
[ 180
Al 420
OYRHABZIAY B2
1,000 100H 100
= 50
== 15
Al 35
02 222 1,386 0 1,386
OYeHABZIAY BHEal 92
16,50024%7 122 1,386
z 693
[ 208
Al 485
307 OI2HOIA 950 10,000 29,050
ay 475
[ 143
Al 332
01 9d=L72H]| 950 10,000 29,050
OZYAHEZE L HYAAX
50,0002 *10S 500
= 250
= 75
Al 175
OntA 2,5002* 100 250
s 125
[~ 38
Al 87
OgRE S ASEE 8,00021+255 200
= 100
[ 30
Al 70
(T) = A 222 ALY 3,500 3,500 0
[ 1,050
Al 2,450
307 DI2HOIA 3,500 3,500 0
[ 1,050
Al 2,450
NEEEEET 3,500 3,500 0
OZY AHZ AKX 50,0002 *30E 1,500
[ 450




A 2AHA
M AQIHY SA(EA/2AH2R)
el EEE2 A (G2 &)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
Al 1,050
OEYZHA 20,00021+60= 1,200
[ 360
Al 840
Ogis S ASE2E 8,0002 100K 800
[ 240
Al 560
(2)=2or2e(gda) 208,800 210,800 A2,000
p) 104,400
[ 31,320
Al 73,080
201 L2 10,000 10,000 0
p) 5,000
[ 1,500
Al 3,500
01 AF22t2IHI 10,000 10,000 0
OZIIAAZE oty
10021%2Z%20, 0000H 4,000
p) 2,000
[ 600
Al 1,400
O=2II2E oY 2E=Es
150R1*x2Z5+20, 0000H 6,000
p) 3,000
[ 900
Al 2,100
301 LBtEAZ 198,800 200,800 A2,000
p) 99,400
[ 29,820
Al 69,580
01 ALBIEREAFS(ZDEXTH) 198,800 200,800 A2,000
ogdx HE3 198,800,000 1Al 198,800
p) 99,400
[ 29,820
Al 69,580
(C) LERKIRAL (AE X2 SHIXIH ) (B EFAL) 221,000 220,402 598
[ 143,750
Al 77,250
301 LBIEA S 221,000 220,402 598
[ 143,750
Al 77,250
01 ALBIEREAFHS(2DEXTH) 221,000 220,402 598
Osx 22| X
221,000,000 x 14! 221,000




A 2AHA
T AR SE(22/220R)
el EEE2 A (G2 &)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
& 143,750
Al 77,250
() LSRRI AAG (RO Rt ) (M BHAFY) 5,000 5,000 0
& 3,250
Al 1,750
307 g1ztold 5,000 5,000 0
& 3,250
Al 1,750
01 =2 =H| 5,000 5,000 0
OLEtkt 22AEE 72
25,0002 *25*100H 5,000
& 3,250
Al 1,750
(2) 2L T (I 2SS ARAL B EAIY) 32,125 33,375 21,250
| 25,700
Al 6,425
301 LBtEdZ3 32,125 33,375 21,250
| 25,700
Al 6,425
01 AIBIEEE2ES(2LEEMNSA) 32,125 33,375 21,250
O2dzg0=ad it H2EE HE3
32,125,000 %14 32,125
J| 25,700
Al 6,425
(=2)3HE SIS 2|2 A 132,000 132,000 0
| 66,000
L= 19,800
Al 46,200
301 LetEE= 132,000 132,000 0
| 66,000
& 19,800
Al 46,200
01 AIBIBEEHS(2LEEMNS) 132,000 132,000 0
O3l &t o248 oIE=2
132,000,000 14! 132,000
Il 66,000
& 19,800
Al 46,200
(F)etgdanize] & ALRANSIHNS 2,860 2,940 A80
| 1,430
Al 1,430
201 et | 2,860 2,940 N80
| 1,430
Al 1,430




A 2AHA
T AR SE(22/220R)
ol SEEA ALY (CHl: X 21)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
01 AFR2eldl 2,860 2,940 A80
Oftg&etatie] Y AAZAN M2 =H|
2,860,000&*1Z 2,860
Il 1,430
Al 1,430
()RS BAHL AL 2 AZAS WSS 1,940 1,960 A20
| 970
Al 970
201 LEt23H| 1,940 1,960 A20
| 970
Al 970
01 AtR2teld] 1,940 1,960 A20
OXHEAHAL A 2= LS WFUE W=
1,940,000 1 1,940
| 970
Al 970
()X LALSIHZZAL 68,326 68,326 0
| 34,163
& 10,249
Al 23,914
202 Odd| 300 300 0
| 150
& 45
Al 105
01 =LHO4YI 300 300 0
OXHAI2| AL A HR0H|
20,000 &*3+53] 300
| 150
& 45
Al 105
301 LEtE&Z 200 200 0
J| 100
& 30
Al 70
11 AKX S 200 200 0
OXGARI AL AR AHEDE & 2HE3]
200,000 * 1Al 200
J| 100
& 30
Al 70
307 2I12t01 & 67,826 67,826 0
| 33,913
& 10,174
Al 23,739




A 2AHA
HE: ARDIAY ER(2H/2A02)
Pl Y22 A (CHol: &)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
05 DIRIPE= 67,626 67.626 0
02021 KIAKS] ALEAL
67,826,0002% 14! 67.826
p] 33,913
[~ 10,174
Al 23,739
BSEEEEEEIS 4,000 4,000 0
[ 1,200
Al 2,800
307 Q1201 & 4,000 4,000 0
[ 1,200
Al 2,800
01 cl2ga| 4,000 4,000 0
OZLaEs A 10,0002 %400 4,000
[~ 1,200
Al 2,800
(2)HOHQUAUEH X SR HIAF 34,072 38,000 13,928
= 17,036
[ 5,111
Al 11,925
101 912] 34,072 38,000 3,928
= 17,036
[ 5,111
Al 11,905
04 IR NEES 34,072 38,000 3,928
OQIS(=E4Y Tat)
76,96021%124%313 24,089
= 12,045
[~ 3,613
Al 8,431
(@ZINEt=: 400,000 %122 4,800
= 2,400
[~ 720
Al 1,680
O0it| 200,000 % 1% * 122 2,400
= 1,200
[ 360
Al 840
OJIRtHI 2R 150,0002*43] 600
= 300
[ %0
Al 210
Oglxz 2,183,0002+1% 2,183




A 2AHA
[ A|QIZY BA(2/221002)
el UEEAH A (CHo: X 2l)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
= 1,001
= 328
Al 764
VEEEINE) 3,234,762 4,324,103 1,089, 34
2 342,815
p] 874,671
= 374,161
Al 1,643,115
EFEINEE 70,249 35,772 34,477
101 oI21d] 49,91 21,984 27.977
DI EES=TES 49,961 21,984 27.977
OD2UF 19 HLFE (2ol 49,91
—QIRQ(FE Y CIXIAEEE
76,960 21224 x206 45,561
— 428 200,000 21*2%* 112 4,400
201 LBr2gy] 16,688 7.788 8,900
01 AF=Zaldl 14,280 6.280 8.000
ONES OHH2 L HA! HIZ
10024%40, 00004 4,000
ONTE HITE X
1002*40, 00004 4,000
OFZBA 22X a2 2¢
70,0002+ *2H 280
ON%EE =22 M=
2,00021+3Z+1,000% 6,000
02 ZZ2H| 2,408 1,508 900
ONLEE oY 2ER2
2,53021 %200} 122! 608
OHAIR WD 2K 24
350, 0002 +3CH 1,050
OHHAIR WED OIEEY 242
250, 0002 *3CH 750
307 IZHO[A 3,600 6,000 2,400
EEEEEE] 3,600 6,000 2,400
ONESE o2ADE 79
300,000 %122 3,600
B EEN TR EEEEECEPIENET 643,650 1,824,480 A 1,180,830
2 321,820
= 9,550
Al 225,280
307 QIZFO[A 643,650 1,824,480 1,180,830
2 321,820
= 9,550
Al 225,280
EEEEEE] 643,650 1,824,480 1,180,830




A 2AHA
HE: AIQIAY BX(2AH/2H2Z)
el olgtae] A (CHl: X 21)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
ORZLHY ==& A& A
643,650, 00024 % 14! 643,650
2 321,820
< 9,550
Al 205,280
(2)oLEE==40H 29 27,240 26,780 460
pJ 13,620
Al 13,620
101 Q124 27,240 26,780 460
pJ 13,620
Al 13,620
VIPIEIy SIS 27,240 26,780 460
OULHESSHE 2 27,240
—QISU(FELLEE
76,9602+ 123112 23,93
pJ 11,968
Al 11,967
—4H 28 200,000 %1%+ 12 2,400
pJ 1,200
Al 1,200
— 04| 905,00024% 1 905
pJ 452
Al 453
(2)2ILES AABEASMLETE) 1,672 2,008 336
pJ 836
< 251
Al 585
307 BI2H0IA 1,672 2,008 336
pJ 836
= 251
Al 585
IEEEEER] 1,672 2,008 336
OBE2IY ZAD| 2 Ofl2tAY
66,880 2125 1,672
pJ 836
= 251
Al 585
(2)=ZILES AA(HE0[HEES) 557,150 567,010 9,860
| 278,575
< 83,572
Al 195,003
307 BI2HOIA 557,150 567,010 9,860
pJ 278,575
< 83,572




A 2AHA
T AR SH(22/22R)
SHelr olgr2te] At (crel: M)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
Al 195,003
01 =2 =H| 557,150 567,010 9,860
ORIzt HEH| K&
84,500 *6,000Z 507,000
| 253,500
L= 76,050
Al 177,450
O2A HEES 4E 2|
50, 150& 1,000 50,150
| 25,075
& 7,522
Al 17,553
(2)=DH0LES AA(LolNEEE) 869,282 765,544 103,738
Il 434,641
L= 130,392
Al 304,249
307 21Zt01 & 869,282 765,544 103,738
| 434,641
& 130,392
Al 304,249
01 =2 =H| 869,282 765,544 103,738
OfIEoz0|2t &8l K&
19,6152%25,000 490,375
| 245,187
& 73,557
Al 171,631
OQISZUX} HYES o4& bl
10,965@1%19,000& 208,335
Il 104,168
& 31,250
Al 72,917
ODFABHULTSAE 2|
42,6432 +4,000H 170,572
| 85,286
& 25,585
Al 59,701
(=)0l IERAUXLES 106,986 128,540 A21,554
| 53,493
& 16,048
Al 37,445
307 21Z2t01 & 106,986 128,540 A21,564
Il 53,493
& 16,048
Al 37,445




A 2AHA
HE: AIQIAY BX(2AH/2H2Z)
SR olgt2e] A (CHo: X 2l)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
IEEEEER] 106,986 128,540 A21,554
Osieo|2)|2 BEH X2
19,615%1%5,000% 98,075
p] 49,038
[~ 14,711
Al 34,306
ORAA NLHS A4=E 2|
17,82224%500% 8,911
p] 4,455
= 1,337
Al 3,119
(2)EeM(18Md) AERX LTS 19,232 16,060 3,172
pJ 9,616
< 2,885
Al 6,731
307 QI2rOIA 19,232 16,060 3,172
p 9,616
= 2,885
Al 6,731
IEEEEEN] 19,232 16,060 3,172
OSistol2)|z BEH| N
25,0002 *500% 12,500
pJ 6,250
= 1,875
Al 4,375
O=A IYES A2 UL
16,8302 +400 6,732
p] 3,366
[ 1,010
Al 2,356
EPETEET N EESES 4,564 5,334 ATT0
p] 2,282
== 685
Al 1,597
307 BIZHOIH 4,564 5,334 ATT0
pJ 2,282
< 685
Al 1,507
IEEEEER] 4,564 5,334 ATT0
Osieo|2)|12 A X2
19,61521%200% 3,923
p] 1,961
= 588
Al 1,374




A 2AHA
HEI: AQIAY BA(2H/2422)
R olEae] AR (Crel: &)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
OQIZRT MLES o2 2]
16,02584%40% 641
pJ 321
< 97
Al 23
(2)ZILESAA (TS FHATHPVOLEES) 15,722 100,550 184,828
pJ 7,861
< 2,358
Al 5,503
307 CIZH0IA 15,722 100,550 184,828
pJ 7,861
= 2,358
Al 5,503
IEEEEER] 15,722 100,550 84,828
Osi=tol2li2 FEH N
19,61521x500% 9,808
pJ 4,904
= 1,471
Al 3,433
O HYES AZ YL
29,5702*200% 5,914
pJ 2,957
= 887
Al 2,070
(S) A ZA HREE 35,000 35,000 0
= 10,500
Al 24,500
307 RIZHOIA 35,000 35,000 0
== 10,500
Al 24,500
01 Sl2YE 35,000 35,000 0
OgIgto| 2|2 &Y
100,00081%350 85,000
= 10,500
Al 24,500
(2)THIISHAIQI A A X & 15,750 0 15,750
2 7.875
== 7.875
301 YBHEAZ 15,750 0 15,750
= 7,875
= 7.875
I EEEEE I ENEESE) 15,750 0 15,750
OTHIHEHAIOI A HH| X!
187,50024+7 Z* 128 15,750




SPA BAL
M AQIHY SA(EA/2AH2R)
R olEae] AR (Crel: &)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
= 7.875
[ 7.875
(2)SHAICITIGHAFRA TG At 222 6,120 2,040 4,080
= 6,120
301 LBIEA3 6,120 2,040 4,080
= 6,120
01 AFBIEEESHS(ZDEEME) 6,120 2,040 4,080
OBHAIQN TIGHA A& I
170,000 3+ 122 6,120
= 6,120
22| ALY 533,043 500,046 32,997
101 Q124H] 120,674 87,936 32,738
04 22X EE S 120,674 87,936 32,738
ogd A= 22 76,960 x4 %2422 74,498
OZZLHI U2 HEA2A QIR (ABH])
76,9602 x4 * 150 46,176
201 LEt2dH 67,229 69,832 A2,603
01 AlR2r2IH] 53,900 59,000 5,100
OAlE 2 2oy 222 M
1,00084+2Z+1,000H 2,000
OAIE 2 2ae0let 340 HIA
60,0002 x2Z*25 A 3,000
ODZLH9 Aelo2HDIE fIEtH
300,000+ 1203 36,000
OdERIZA ADE 19|
200,000 %122 2,400
Ot ASR2| ATE 710
100,000 +5CH 500
O2Z2LHY &K 0lHI
500,000 %203 10,000
02 2224 13,329 10,832 2,497
OHgRI2A U2 H2H|
90021%3.3 £ *BAI 21202 %1 A 2,139
oy JtAe 2z @tz
5,0002% 15024 750
OFQM Latattiet 8K
500,000 *1CH 500
O AH| S| 6,100
—grolg HUASI| S|
200,000 +4CH+23 1,600
—gioi2 X0 2ERAS)| KA
500,000 % 1CH 500
—go2 SHE ARASI| K|
100,000 *40CH 4,000
OFI|Q3 (L=t D) 200,000+ 122 2,400




2A: BHA
R AIQIAY BR(2A/2AH92)
el olgtae] A (CHl: X 21)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
OMol+E Q= (HAa1))
30,00024% 122 360
OROIHHIAIAE ST 22| (LEtD)
90,0004+ 122 1,080
206 24| 112,650 102,460 10,190
01 HEH] 112,650 102,460 10,190
Ogtet 2| K201 8,750
—Fes 1,75024%5, 000 £ 8,750
Ogrod btz 1oly) 69,900
—SHAHA 60,0002 *400E 24,000
— A= 41,0002 *400S 16,400
—SETMAZ L A2
40,0002 *400E 16,000
—UHSEADIE = DA
300,0002*25CH 7,500
-3 M= JImA
3,0002/%2,000= 6,000
O2ZLHY YAASH 2L 34,000
—BRASH (ARAS)
10,0002*2,0007H 20,000
—EA=H 7,00024%2,00074 14,000
301 YprFE=Z 1,000 1,000
14 JIEI2 A2 1,000 1,000 0
Ot AS AbSY 2| IIsHB A
1,000, 00024% 124 1,000
307 BI2H0IA 212,890 226,718 13,828
NIEEEEED] 200,000 215,000 15,000
ORZLHY MRIE AL IIE 7
200,0002*1,000S 200,000
05 QI Er2 12,890 11,718 1,172
Ostuzipe|ss| ger=2
12,890,000 * 14! 12,890
405 XHAHE S 18,600 12,100 6,500
01 HILSEF S| 18,600 12,100 6,500
Ot A7 2| 6,500
—xge o A=)
1,800,000 *2CH 3,600
—sl8 g9 A=) 580, 00021 +5CH 2,900
OMEHMHIN(EZD]) &
1,000,000 +6CH 6,000
ORYA A2 HEMIHIN(ESI) &X
(Z=RIEOI0HIAF) 1,000,000 %504 5,000
OBEIIIH KIHS2AD| &X
1,100,00024% 17 A 1,100
(2)HEHAZEHS LN BTS2 (HIZA) 5,350 5,376 A26

Il

2,675




A 2AHA
HE: ADIAY BR(PA/202)
el olgtae] A (CHl: X 21)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
= 802
Al 1,673
201 Zere | 5,350 5,376 26
| 2,675
= 802
Al 1,673
01 A2yl 5,350 5,376 A6
OMSHMZEHS R HIEST 2O (LA)
5,350, 00024 x14] 5,350
| 2,675
= 802
Al 1,673
BEEHEEEIESEEERS 3,000 3,000 0
= 600
Al 2,400
201 Zere | 3,000 3,000 0
= 600
Al 2,400
02 S22l 3,000 3,000 0
OYSATZIBEAI AL SXE4
3,000, 0002 +14] 3,000
= 600
Al 2,400
BREPEERESENE 25,000 25,000 0
& 7,500
Al 17,500
201 2=yl 22,000 22,000 0
= 6,600
Al 15,400
01 A2yl 22,000 22,000 0
OMELEY HLELSE P
4,00021%3,0000} 12,000
= 3,600
Al 8,400
ozgy 2AZHII2 8| 7Y
5,000241, 40001 7,000
= 2,100
Al 4,900
OMZ2SH 2H 015l
150,000 %203 3,000
= 90
Al 2,100
202 010 3,000 3,000 0
= 90




A 2AHA
HE: AQIAY BX(2A/EAH2IR)
el olgtae] A (CHl: X 21)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
Al 2,100
01 =LH0IH] 3,000 3,000 0
OB oL XIRAL 0l
3,000,000 % 1Al 3,000
[ 900
Al 2,100
23D AL 3,420 3,590 AT70
201 LB 420 620 A200
02 2229 420 620 A200
OZs JIA2 A X 28|
5,0002 %23 * 12 120
O371&737| Sl 300,0002%13] 300
307 CI2H0IA 3,000 2,970 30
NIEEEEEL] 3,000 2,970 30
Oz otz 9l 10,00021+502*62 3,000
(2)BAHLZ IR AR (AFIH]) 55,552 117,560 62,008
pJ 27,776
[ 8,333
Al 19,443
201 L2 3,000 2,000 1,000
p] 1,500
[ 450
Al 1,050
01 AF2 22l 3,000 2,000 1,000
O 015t 1,000,008 14} 1,000
pJ 500
[ 150
Al 350
OYStZA EEEE 2 nsSizE 7
1,0002%2Z+1,0000H 2,000
ol 1,000
[ 300
Al 700
202 01t 600 600 0
p] 300
[ %0
Al 210
01 =LHcIH] 600 600 0
OZ#22|AY O]
20,0002% 1230 600
9] 300
[ %0
Al 210
307 BI2H0I A 51,952 42,600 9,352




A 2AHA
H: AQIAY BZ(HA/221002)
R olEae] AR (Crel: &)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
| 25,976
= 7,793
Al 18, 183
IEEEEER] 51,952 42,600 9,352
OZSHSN2AL & FESX S
14,700,00024%14} 14,700
pJ 7,350
S 2,205
Al 5,145
OZABEAL S 8,600,000 * 14! 8,600
p] 4,300
[ 1,290
Al 3,010
OIIEEENEA 3,200,000 %Al 3,200
pJ 1,600
= 480
Al 1,120
OLAHAA SX|
1,452,000 % 14! 1,452
pJ 726
== 218
Al 508
OFUHS 2o L B=HHLAL
21,800,0002*1 4! 21,800
| 10,900
= 3,270
Al 7,630
OSESALSAN H2ZHAAAT
2,200,000 % 14! 2,200
| 1,100
< 330
Al 770
(R)BALZH2AIS (A E2ZH]) 73,592 0 73,592
p] 36,79
Al 36,796
101 Q124 73,592 0 73,592
pJ 36,796
Al 36,79
04 JIZH22HSES 73,592 0 73,592
OZHNLUASA QIAL(FESY )
84,00021%22+313Y 52,584
| 26,292
Al 26,292
OZMHLASAL ABSY
50,0002 2% * 12 1,200




A 2AHA
M AR BR(22AH/2AH2Z)
SR olgt2e] A (CHo: X 2l)
SA - FH . SRI(B) - HIRAY - BAS il b ] Hl D=2
D] 600
Al 600
OZSMLISAL 04t
200,000+ * 122 4,800
p) 2,400
Al 2,400
OZMLYIS AL A 2SS
300,000+ * 122 7,200
p) 3,600
Al 3,600
OZSMUZSA M0IS(BESY)
400,000 x2H %23 1,600
p) 800
Al 800
OZsMLASA E1X2
2,864,000 %2 5,728
p) 2,864
Al 2,864
Onl=tl 60,0002 *2Z x4 % 480
p) 240
Al 240
(C)EeHM ZATIALY 5,868 5,730 138
[ 1,760
Al 4,108
307 2IZH0IA 5,868 5,730 138
[ 1,760
Al 4,108
01 2L R2H] 5,868 5,730 138
OZ Al XI& 3,6002+1,630Y 5,868
[ 1,760
Al 4,108
(2)0ll0|=2Lol X2 10,000 10,000 0
p) 5,000
[ 1,500
Al 3,500
301 LBtE A= 10,000 10,000 0
p) 5,000
[ 1,500
Al 3,500
01 AIBIEEEAGS(2NEEMA) 10,000 10,000 0
Oulol= &zd| XI& 10,000,000 % 14! 10,000
p) 5,000
[ 1,500
Al 3,500




A 2AHA
M NQAHY SA(BAH/BA9Z)
el olgtae] A (CHl: X 21)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
(=2)001= & SHUEAIS 3,000 3,000 0
| 1,500
& 450
Al 1,050
307 2I2t0l ™ 3,000 3,000 0
| 1,500
& 450
Al 1,050
01 222 =H| 3,000 3,000 0
OOl =& AAISE 22 200,000 *10= 2,000
| 1,000
= 300
Al 700
ONYEICAIZ 22 100,000 *10= 1,000
| 500
& 150
Al 350
(2)22LH9 He |2 XSHIX& 14,000 16,000 A2,000
= 7,000
= 2,100
Al 4,900
307 SI2H0| M 14,000 16,000 A2,000
= 7,000
& 2,100
Al 4,900
01 222 =H| 14,000 16,000 A2,000
OZZLH9 AH|gdX =l XA
14,000,000& 14! 14,000
= 7,000
& 2,100
Al 4,900
At ALY 93,194 91,833 1,361
101 124b| 28,476 27,115 1,361
04 JIZtNI2Z2XSE S 28,476 27,115 1,361
OAHLAE L] EX01H ol 28,476
-2y 76,9602 x2H =140 21,549
—FF+d 76,9602 x2 Y #452 6,927
201 B3| 29,783 29,788 0
01 AtR2teld] 3,036 3,036
OArHE | AN HIZ= Xell|
600 1,000 £ 600
O1l=H| 300
—AEs 50,00024%2% 100




SPA BAL
HE: AR BR(LAH/EAHZ)
el olgtae] A (CHl: X 21)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
—EH JI2 40,00024 5 200
OZAIS A, HPEBA S 12, AIE MEH]
85,00024*25]* 122 2,040
OBIAIS EAIR DIZHS 42
8,000 *3% 43 %
02 2229 26,752 26,752 0
OBAAHl S| 2,200
—MglelEA))| 500, 0002 %1 CH 500
—0l0I= ZAP| 500, 0002 %1CH 500
W E 600, 00024 *1CH 600
—SoHorE LX) 300, 00024 2CH 600
OEtARS AL &H| 2 PACSAHT SXIHI 24,552
— AR E AR A
1,320,000 % 1CH* 122 15,840
—O| 2 UM A M S A AR (PACS) S
726,000 1CH*12& 8,712
307 2I2H0IA 34,930 34,930
01 2L R2H] 34,930 34,930 0
OUAHR| AL Al 25,430
—=ZAHAF AlQF 55, 000« 10 x4 2,200
—2rABRAZIAL A2t
110,00024%109 | E 1,100
—2FABIRI AL Al
110,00024%103 | E 1,100
—dEZA NS 100,00024x2E+39 | E 600
—HIOI=Z AL Al 300,00024%49 | E 1,200
—2D1S2AL Al
80,0002 *155+79|E 8,400
—AEI|SZAL Al
80,0002 *75%59| £ 2,800
—CHL2AF AlSE 35,00024%109 | E 350
— 23 SHZAM A2t
30,0002%203 | E 600
—CISIE M A AL Al
100,00024%303 | E 3,000
—ELHMIZZAL Al
170,000 *3H+85 4,080
OUAHR| A A2 E 5,000
—Z=API 2002%5, 00074 1,000
—J|E} ZAIZ 100, 0002 *10Z*47} 4,000
OSIHNZ Y A 15,0002 *30021 4,500
T2LH9 2HH 29 37.1% 0 37.126
101 o1A4H] 37.1% 0 37.126
04 JR2ENEES 37.1% 37.1%6




SPA BAL
M AQIHY SA(EA/2AH2R)
el olgtae] A (CHl: X 21)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
OQIRA(FE2Y 23
76,9603 x3%*27 U4 2 24,936
OoE224Y 115, 44021 +32 x4 U x4 2 5,542
Osgzz=g 38,480 R *3% %02 x4 2 924
O x=g 76,960 R %3 x 12«42 924
(@rI=k=" 400,000 3«42 4,800
NEEICIEE 52,054 51,644 410
[ 4,680
Al 47,374
NEEICEE! 36,454 36,044 410
101 QI24H] 24,614 23,444 1,170
M IIIR2Z2REES 24,614 23,444 1,170
Oflg8x o129 24,474
—ol=y 76,9602 %224 130! 20,010
—F5g 76,9602 %2 x26L 4,002
—ARSEILY
76,9602 x2H*3 462
o22g 7Y 70,0002 12 140
201 L2 A 7,260 6,280 980
01 AFR2t2IHI 6,060 5,080 980
Oglgial o1x)| BE e
40,0002 %55 200
OrZeIY 222 HEA
1,0004%1Z+1,0000H 1,000
O0IAMA HIZ 5002 *4Z=+1,0000H 2,000
ogd 272= 7Y 200,000 62+ 1 1,200
OX2A! 25A e 2
70,0002 %421 280
oplgiolg We M| Axt2 X2
420,000 % 1CH 420
OO0t Btet=3|xg 22X SAlH|
8,000 * 10 *13|*12% 960
02 2229 1,200 1,200 0
O L ALAE Y| KXY
200,000 +4 % 800
OAAAEZY EB QERS
40024%1,000& 400
307 2I2H0I & 4,580 6,320 A1,740
01 2L R2H| 4,580 6,320 A1,740
OZ2al g8x4 IE2
1,5002% 1,000 1,500
ounrgg A2E 1Y
30,0002+ 12 360
OBAKIRE o22Z 19
60,00024x303 1,800
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2M B2
ME: ™A (AZTelD) (IIEHIIED)
Erel: olzt2oly (CHel S )
S - B - ORI(3]H) - HISAR - BaS Ol kot ] HIDE2
Al 15,355
08 22X (RIHF) 222+ 43,874 46,398 2,524
oJlez 2,140,000 % 1% * 122 25,680
p] 12,840
[ 3,852
Al 8,988
OYEEIH| 2,140, 00021+ 75%+ 1 %23 3,210
p] 1,605
[ 482
Al 1,123
OFzSY 2,140, 00021 %30%+ 12 *23] 1,284
J| 642
[ 193
Al 449
OUXRIEINLY 98,00024*1H*10 980
p] 490
[ 147
Al 343
OFUZAH| 140,0002 1 122 1,680
p] 840
[ 252
Al 588
ONELEH| 100,0002 1122 1,200
p] 600
[ 180
Al 420
O0it| 200,000 % 1% * 122 2,400
p] 1,200
[~ 360
Al 840
@B]=—3= 120,000 1 &+ 122 1,440
p] 720
[ 216
Al 504
=L 300, 0002124122 3,600
p] 1,800
[ 540
Al 1,260
OIl=| 100,0002* 1 100
p] 50
[ 15
Al 35
Ogl1=2 2,300,00024%1% 2,300




A 2AHA
M AYSHAH|(AY22ID) (DIEHIIEH
CHel: ol2d29Y) (Ctel: ®M2)
SA - A SR(B) - AIRAI - BAS o vy ] bl D2
D] 1,150
[ 345
Al 805
(2)U2AHL2ALIAI 120,000 123,797 N3,797
= 60,000
[ 18,000
Al 42,000
101 Q124 120,000 123,797 N3,797
= 60,000
[ 18,000
Al 42,000
03 ZRE(RIH) 22 THES 120,000 123,797 A3,797
oJle3 2,110,0002%3%*12& 75,960
z 37,980
[ 11,394
Al 26,586
O4tHES 250,00024+3% 128 9,000
z 4,500
[ 1,350
Al 3,150
ool 400,00024+3%+12& 14,400
= 7,200
[ 2,160
Al 5,040
OHESFOHI 6,000,000 %1 Al 6,000
= 3,000
[ 900
Al 2,100
OFHZAY] 5,040,0002 % 14! 5,040
z 2,520
[ 756
Al 1,764
OnSEZH| 100, 0002*32* 122 3,600
= 1,800
[ 540
Al 1,260
@p]==== 2,240,0002* 14! 2,240
z 1,120
[ 336
Al 784
OFsF=== 300,0002*3H 23| 1,800
z 900
[ 270




2M B2
MR MESAAH|(HA22ID) (DIEHIIE)
el olE2HH| (Gl ®2l)
S - B - ORI(3]H) - HISAR - BaS Ol kot ] HIDE2
Al 630
Ogl=2 1,960,00024x 144 1,960
= 980
[~ 294
Al 686
=23 168,776 150,788 17,988
JI=2| 168,776 150,788 17,988
201 LB 39,776 33,728 6.048
01 AFRZ2l| 39,776 33.728 6,048
O=ARI 2 20,0002 %312t Ax 122 7,440
OE204AH 8,000 +6AIx31L* 122 17,85
Otz 100,0002* 122 1,200
OARZ TA7LH| 50,0002 * 122 600
OARD 24| 10,820
—=AD| 22 500,000 1.5CH 750
—ZR2IE 22 100, 00024 *7 CH*50% 350
—=2AD| EY 200,00021%53]*1.5CH 1,500
—o2Iy £ 200,00094 557 CH 7,000
—PC %2 100, 0002 %3 1CH*20% 620
—JIEt 22| 50,00021% 122 600
OJIEt Al 22| 5,0002*31 122 1,860
502 00| 122,760 110,880 11,880
07 =Uoigl 122,760 110,880 11,880
OAL2R L LREF0H 122,760
—ZHHOIY] 20,0002 %312 122 x 12 89,280
—22|04H| 90,0002 %3112 33,480
203 YR EZ| 5,040 4,980 60
04 SA2IR=A] 5,040 4,980 60
ORM2HAL=AIH|(A2A22|D)
420,000 %12 5,040
204 ZR2BHAH| 1,200 1,200
NEEEEEEE L 1,200 1,200 0
OZ S AR LB AH| (A2 22| UE)
100,000 %1+ 122 1,200




